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The diagram below shows the graph of y = tan x, for 0° < x < 720°. . o ks
By adding a suitable line to the graph, show that there are four solutions to the equation S y-tans ad tane =2, sdudions otewr AL o
- < x < 720°, on behwean U= and y=2.
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Sketch the graph of y =Csin @ for 0° < 6 < 360°,
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Given that f(6) = cos 6, write the following functions in terms of cos .
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Write down all the values of x for which sin 3x = 0, where 0 < x < 2.
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On separate diagrams sketch the graphs of:

() y=sinx ~180° < x < 180° \)
(i) y=cosx 0°< x < 360°
(i) y=tanx ~180° < x < 180°
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Sketch the graph of y = sin 2x for 0 < x <.
5 Fist skcc sing, tun o the grapn tonsformabion.
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()  Write down the maximum value of y where y = 3 cos x.

(i)  Write down the minimum value of y where y = 9sinx. i.) Vaximum valie ¢ cosx = ( ™ i )
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‘The point P has coordinates (90°, 1) and lies on the graph of y = sinx, where
0° < x = 180°.

Write down the coordinates of the image of point P under the following
transformations:
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‘Write down the values for which cosx = 1, for 0 < x < 2.
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